
A-A
Cross section

 

 0,1 kgBolt M16x32 with rounded head 8.8 HDG6176716/6 m10

 0 kgBolt M12x25 DIN933 4.6 HDG617891/6 m9

 0,2 kgT-washer617881/6 m8

 1,2 kgMini C 67, L=220 617991/6 m7

 2 kgTop plate617861/6 m6

 0,1 kgBolt M16x30 with rounded head 8.8 HDG617694/6m5

 0,1 kgFlange nut M16 DIN 6923 8 Isofit HDG69231600020/6 m4

 4,5 kgJoint plate617681/6 m3

 11,4 kgStolpe fotplate L=440 med tape kpl. for 

K=100

617221/6 m2

 52,6 kgOval open profile 200x100x3 L=5995 cc3/6617501/6 m1

RemarksMassMaterial typeArt. nr.Qty.Pos.

A

A

1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

5135717

Scale

A3 - 1 : 40

This drawing is our property and must not be used, copied, or made 
available to others without our consent.

Reference:
C:\Vault Workspace\Designs\03 Trafikk\EIN NY VÅR\Midtrekkverk\Safeline-M\00

 Systemtegning\5135711

Constr./Drawn by

DLT11.05.2020

Date

Calculation Approved by

Safeline-M Median Barrier
Posts spacing 6m, base plate, 100mm plinth

System drawing
Replacement 
for

Replaced by

Revision

-

Sheet 
no

1 /1 

Side view:

Top view:

2

1

3000

200

6
0

0

1
0

0

2
0

 -
 3

0

Min M24 A4 80 / 8.8 200

2
0
0

1
4
0

140

n27 for M20/M24

6000


